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Cio. 10-cycle, decagon

gf=10:1, B S g:f = 3:50
D1 (ord 20) T
3-reg 6-reg
K4 + K3'3
1 gif = 3:26
Z5(S3) x 54 (ord 1728)
K4 + 3-prism
2 g:f=3:24
Sq x Dg (ord 288)
gf=234, d=5, P. non-H 3 g:f=3:26
Z5(Zy x Zy) (ord 32)
gf=34,d=4, P 4 gif=3:26
D4 x Zy (ord 16)
gf=34, P 5 g:f = 3:26
2o x Zo % Z5 (ord 8)
gf=3:2 6 g:f=3:28
DaxZy (ord 16)
gf=33,d=4, P 7 gf = 3:27
2y xZp (ord 4)
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tri-truncated tefrahedron
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gf=4:6, B g:f = 3:30
D4 x S3 (ord 48)

S-prism

gf=45 PT g:f = 3:30
Dyo=Ds5x Dy (ord 20) T
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gf=45 BT g:f = 3:30
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Petersen graph
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gf =317
S3x 2y (ord 12)

gf=3:7
2o x o % Z5 (ord 8)

gif = 3:7
i precedents: #19, 30, 31, 41

gf =37

gf=37
Zy: transposition (1 2)

gf =3:7
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D4 x S3 (ord 48)
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22 X 22
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gf=3:6
Lo X2y

gf=3:6
ZyxZy

gf=23:6
ZoxZo

gf=3:5
2y xZyx 1y (0Ord 8)

gf=3:5

gf=3:5
Zy: transposition (1 2)

gf=35

gf=3:5
Zy: bitransposition (1 2)@3 4)
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gf=34

gf=3:4
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gf=3:2 57
Ly x1p
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